Ready-to-go Lesson Slides

Year 2

Multiplication and Division

Lesson 1
To share objects into equal groups Yelilgle



To share objects into equal groups

Hinge Question:

Tim has thirty counters.
He shares them equally between five children.
Each child gets six counters.

Which calculation describes the story?

N 6+5=30 30-5=6

5+30 =6 30+5=6
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To share objects into equal groups
Starter:

Rosie has 15 sweets. She shares them between 5 cups.

Can they be shared equally?

How many sweets should be in each cup?
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Yes they can be shared equally.

ANswers
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To share objects into equal groups
Starter:

Rosie has 15 sweets. She shares them between 5 cups.

Can they be shared equally?

How many sweets should be in each cup?

Yes they can be shared equally
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To share objects into equal groups

Share the 12 cubes equally into the two boxes.

There are 12 cubes altogether.

There are 2 bboxes.

Thereare 4 cubes in each box

ANswers
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To share objects into equal groups

Guided Practice:

The Mathstronaut says:

Can you use manipulatives to represent 1128 children are put info 4 equal

the children to show how you found your ISEITS, ety ey enleleh el [

each tfeame@e

answer?

Complete the stem sentence.

Is shared into groups of

There would k£
7 children in
each team.
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To share objects into equal groups

Guided Practice:

The Mathstronaut draws this bar model to divide 16 into 2 equal groups.

Can you explain what he has done?

Using his bar model, what number sentences could he write?

16

DB BB BB NS

RN BB EE

The Mathstronaut probably put 16 cubes in the green top bar. He then moved a cube

into the yellow bar, then the blue bar, then the yellow bar, then the blue bar and so on.

He was then left with 8 cubes in both the yellow and blue bars.

Thisrepresents 16 +2 =8 or2x8=16. It also shows8x2 =16
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To share objects into equal groups

Guided Practice:

The blue Mathstronaut has 20 cookies and shares them between 5 friends.

The purple Mathstronaut has 20 cookies and shares them between 10 friends.

Whose friends will receive the most cookies?

How do you know?

Answers
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To share objects into equal groups

Guided Practice:
The blue Mathstronaut has 20 cookies and shares them between 5 friends.

The purple Mathstronaut has 20 cookies and shares them between 10 friends.
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The blue Mathstronaut’s friends will get 4 cookies each

ANswers
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To share objects into equal groups

Guided Practice:

The blue Mathstronaut has 20 cookies and shares them between 5 friends.

The purple Mathstronaut has 20 cookies and shares them between 10 friends.
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The blue Mathstronaut’s friends will get 4 cookies each whereas the purple
Mathstronaut’s friends will only get 2 cookies each.
The blue Mathstronaut’s friends will get more because the purple Mathstronaut is

sharing with more people so they will get fewer cookies each.

Answers
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To share objects into equal groups

Let’s Reflect:

Which of these numbers can be shared equally by 2 and which will have 1 left over?
Use cubes to help you.

20 19

16 14

20 can be shared equally intfo 2 groups of 10.
16 can be shared equally intfo 2 groups of 8.

14 can be shared equally into 2 groups of 7.

19 can not be shared equally intfo 2 groups. There will be 9 in each group with 1 left

over. Answers
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